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1. 5 4+ 518 4 51¥ 4+ 5%V g divisible by ~|5.  Which one of the following is correct ?
el 4 : : : (a) Decimal expansion of a rational number
is terminating.
(b) 9 ' (b) Decimal ex'pansion of a rational number
; is non-terminating.
(e) 11
(¢) Decimal expansion of an irrational
veoi(d) 18 e ~ number is terminating.
(d) Decimal expansion of an irrational
2. If a + b = 2, then what is the value of 4 nuiber s, Sl nontoring ing, . and
5 = non-repeating.
+ ?
a-c b-c
% +x+r=0are
(@ -1 en Which one of the
(b) O
@ 1
@ 2
3. Ifx=yl2 y
y#1, z#1, th 65y = 1, then
(a -1
(b) 1
(€); 0
d 3
4. If 2b =a+c and y2=xz i =1, then what is
xP-cyc—a,a-b 2 = (:
y°© equal to ? : ab + xy A
bx
(a 3
(@ 1
(b) 2 ®b) 2
e 1 (0 0
@ -1 @ -1
SPSS-T-XHI (2-A)
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1. 51745184519, 520 fohod fawrsa 8 2

(a) 7

(b) 9

() 11

(d 13

2. Aa+b=2q, @ 2 +_C
a-c b-c
22

4. IR 2b=a+c My =xz 3

b 2
() 1

a -1

SPSS-T-XHI
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fefafea d a o adi 2 2

(a) UTEY G T AT JHR |d BT B |

(b) URHT &I HT TIHGS TER FTGEH BT
2l

(c) TR G&AT H1 eYHAd YER Hid Brdl
2 .

(d) IUNHET G T wHAd TER
3R STEd BT B |

(a) 1

(b) 2
¢ O

d -1
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9. I 2 15 5 then what i ‘the. value of 13. Which one of the following is a zero of the
: ‘ polynomial 3x%+4x% -7 ?
a1
9 .
ad (@ o0
(a) s 125 ® 1
(b) -125
(0 2
(c) 140
@ -1
(d -140
10. If x+y+z=0, then whatis .
6 e g h are greater
to ? F are 3003 and
& e sum of these _
a X+y
(b) 383&x+y
() 24xyz :
(d) - 24xyz
11. If(x+ 3)is a fz
what is the val
(a) 12
(b) 24 s of the equation
) 36 ¢ = 0, then what is the value of the
DPE+1)?
d 72
12. The smallest integer with 4 d
perfect square is =
q ®) b +: a
(a) 1000
a-b+c
(b) 1024 ' (c) =
(¢) 1089
@ a+b-c
(d) None of the above =
~ SPSS-T-XHI (4-A)
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o qﬁaza'1=5%,a‘ras‘1mmw%? 13. ang3x3+4x2—7$rw,ﬁ§%1%§aﬁﬁ
: a

5 HHAT R 2
(a) 125 i T '_
(b) -125
W i (b) 1
@ 140 (© 2
(d) | -1

10. ?ﬁ'\d X+y+z=0 %,ﬁ
+z-xP+@z+x-y°P +x+y-2)°

foraes st B 2

& i =% LoM

(2) | 5 Tt &
(b)
()
(@
1. A (x+3),
 RkF AR F
(a) 12
(b) 24
© 36 bx +c=0%% T %,
@ o+ 1) (B+ 1) TF FTE ?

12. 4 37hi %1 Fe8 Bl QIR S

freafafaa d @ sRaT 2 2 © Dbre-a

(a) 1000 R

(b) 1024 | @ 2-bre

(¢) 1089 :

@ | @ B
SPSS-TXHI ‘ (5-A)
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The remainder when 3x3 + kx? + 5x — 6 is[20. The sum of a number and its square ‘is 20.
divided by (x + 1) is — 7. What is the value of Then the number is
?
= : (a) —-5o0r4
- 14

i ®) 2o0r3
(b) 14

() —5only
() -7

(d 5or-4
@ 7 )

21. If the price of wheat rises by 25%, then by how

If f(x) and g(x) are polynomials of degreeg

much percent m man reduce his

and q respectively, then the degre s S
){ s budget the

{fx) + gx)} (if it is

(a)
(b)
(c)
(d)
What is the v
gistered did mot
_(a? s % of those who
(b 2415 .
ber of registered
© 15 _
who passed is
d -+15

What is the value of

1
o
IxP 3132 g px0-P

where x 07 23. What is the difference between 0-9 and 0-9 ?
(a) -1 (a o0
b o0 (b) 0099
(e)i:.. 1 . . (e) - 0¥k
d 3 : (d) 0-09
SPSS-T-XHI ' (6-A) |
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16. 99 3x3 + kx2 + 5x — 6 H (x + 1) ¥ 90T fear|20. U G W 3Gk w1 AHA 202 | A1 T8

JEA R A 7RI FAAT R | kHAA FAR 2 e R

(a) -14 (a) -53AIAT4
(b) 14 (b) 23AYAT3
@ =7 ~ (0 HaA-5
@ 7 (@ 54

17, 3R fix) 3N g(x) HEN: Tt p 3N o F TG F, |9 afg 7€ 1 IoF (M) 25% el 2, A TH AE
A {fx) + g} (I TE AW 7) 1 feft 2 F 3 Iqa T R ora &1 St HEh
(a) min(p, @) ¥ T
) e & R 2

(c)
(d)

J5 -3
18.
J5 +
(a) fou 3ufea =t
1 :
(b) Il gu | Al
(c) > qr 3t B9 e
)
19.
1+xP-2 4 x
(d) 864
&l x# 08, T HH FT 8 ? B )
23. 09 37T 0-9% = 1 IR B ?
(a) -1
(a) O
il (b)  0-099
S © 01
@ 8 @ 009
SPSS-T-XHI (7.-R)
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b 85 e SO ANSEROR Borrowed < 5,000 at 5% rate of
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IfA:B=1:2 B:C=3:4, C:D=2:3|28. ¥ 120 is distributed among A, B and C so that
and D:E=3:4, then whatis B : E equal to ? A’s share is ¥ 20 more than B’s and ¥ 20 less
(a) 3:2 than C’s. What is B’s share ?

(b) '
(©)
(d)

(a) T10

W =
= 0o 0o

(b) T 15

(¢ T20
A work when done by 10 women is completed @ % 925

in 12 days. The same work can be completed
in 8 days when done by 5 men. How n m%b;
days will it take to complete wh

job ?
(@) “12
(b) 10
© 8
d 5

B 60

150 days. He e
only a quarter
How many add
so that the who

(a) 75
© 100 annum and immediately lent it at

(d) 120 p years he collected the amount

loan. What is the amount .

s »”gained by him'in this transaction ?
@Kkm per hour '

crosses an electric pole in 30 seconds. What is (a) T 25
the length of the train in metres ?

(a) 300
) 400 © ¥ 100

(¢) 500
(d) 600 (d) T 200

(b) T 50
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24. IR A:B=1:2, B:C=8:4,C:D=2:3

M D:E=3:4%, @ B: E fhoeh st 8 2
(a) 3:2
(b) 1:8
(c) :
(d 4:1

T HE ) 99 10 3w E A 98 12fm
U B ST | 3w B T 5 3MeHt B 7
@ a8 8 fe7 ® 4 & wman 7 | 3w

% fou 5 6 3N M 3 3t @Y

38 QWA |

(a) 12

(b) 10

(¢ 8 (

60 km 9fd =52 it wfd & =g
wF firgd @ # 30 S @
Tt i ars, i § R 2
(a) 300

(b) 400

() 500

(d 600

~W'@ﬁﬁ%l

28.

(9-A)

A B3 CH T 12039 UhR &i¢ I1d 8 T A
T YW B 39 Y T 20 31H g R CF AW
AT 20FAL | BRIIWMATE?

(a) T10
b)) T15
(e) T 20
@d T25
farmor Y groft 9, A, B 3R
U ShHR[D HiA o \
— 2 |'¢
B 60
N /8
‘30
6 N W W T 5,000
M AR G & 55% I W W IR ¢
9 gl (ol | 38 ST A IE TRl gy
T AT B
(a) T25
(b) T 50
(¢) T 100
(d T 200
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31. At present the average of the ages of a father (35. The annual income of a person decreases by
and a son is 25 years. After seven years the T 64 if the annual rate of interest decreases
son will be 17 years old. What will be the age from 4% to 3-75%. What is his original annual
of the father after 10 years ? income ? -

(a) 44 years (a) T 24,000
{b) e Abears (b) ¥ 25,000
() ¥ 25,600
(¢) 50 years
(d) T 24,600
(d) 52 years
For 0 < m < 1, which one of the following is
32. If 5 tractors can plough 5 hectares of lan, ‘h correct ? .
5 days, then what. i 3N 3
required to ploug
(a) 100
(b) 20
() 10
(d 5
39,000 to be
ong his widow,

33. A merchant comn s. If each son
and gains annu as a daughter
and of 3'yeres eceives twice as

A s, then what is
original amount
(a) 5,120
(b) 5,210
(¢ 5,350
(d < 5,500
hree numbers which are co-prime to each
34. Which one of the following decimal numbers is other, are such that the product of the first
' a rational number with denominator 37 ? two is 286 and that of the last two is 770.
What is the sum of the three numbers ?
(a) 0-459459459 ... '
(a) 85
(b) 0-459459459 ®) 80
(¢) 00459459459 . .. e 175
(d) 0-00459459. .. ' (d 70
SPSS-T-XHI (10-A)
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gaaE § wh fUar o gA fit ey & sitEd
2598 3 | 91d 99 91g YA 17 99 1 &A@ |
10 9§ g foar Y oy e gl 2

(a) 4479

(b) 4579

(© 50a

@ 5279

31.

35.

32.

33.

(c)
(d)

Frefafed gevmers g@net 4
Hi-Ht g e w372 2

(a)
(b)
()
(d)

34.

0459459459 . . .
0459459459
0-0459459459 . . .
0-00459459 . .

SPSS-T-XHI

Join Telegram

(11-A)

Ife aiffes =91 X 4% T TTH 3-75% & ATl
2, d1 T Ak ol 9ffsh A T 64 T AT
2 | 3Th g aTftieh ST w1 2

(a) T 24,000

(b) T 25,000

(¢) T 25,600

(d) T 24,600

. 0<m< 1% fou, fafafgs 4 @ =991 g8

%%qﬁammzwaﬂtaﬁﬂam
%A 770 8 | W1 HEAIS H AMHRA F 0
22
(a)
(b)
(c)
(d)

85
80
75
70
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39. The age of a woman is a two-digit integer. On |42. An alloy A contains two elements, copper and
re{rersing this integer, the new integer is the tin inv the ratio of 2 : 3, whereas an alloy B
age of her husband who is elder to her. The ;on‘t;allr;‘s2;he s?:fl eleAIpents - ft:fl ratio of
difference between their ages is one-eleventh 5 kelatallopih, 26 kg‘o oy Sand

v : some more pure copper are mixed to form a
of their sum. What is the difference between thivd slloy © which now centains copper dod
their ages ? tin in the ratio of 6 : 7, then what is the

- . - 7
(a8 quantity of pure copper mixed in the alloy C ?
(a) 3kg
(b) 9years () 4kg
(¢) 10 years (c) 5kg ' \
@ 11 years N
+°bx + c is such

40. A passenge s — 1) and (x + 1),
eiming in 1 4 respectively.
railway track
takes three t
train, as when
directions, then
of the passen
train ? aSecutive positive
(Assume that th is the largest
@y 2:d
b) 3:2
(¢) 4:3
(@) - 1:1

: e he ages of 15 students in a

41. All odd prime numbers class is 19 years. When 5 new students are
multiplied together. What is the unit d1g1t in admitted to the class, the average age of the
this product ? class becomes 185 years. What is the average
@ o0 age of the 5 newly admitted students ?

(a) 17 years
(b) 3
(b) 17'5 years
© 5 (¢) 18 years
(d None of the above (d) 185 years
SPSS-T-XHI (12-A)
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U Afge Y A A A H TH Tk & | 3™
qufeh % 3Tehl 1 TIM Fed o W, FA1 YUl
g% gfa, St f 5@ w8 g, &t g = Frn
B | ST ST T I, ITHI Y & ANTHA HI
e e & | I Y HI A FT R 2

(a) gad
() 9ad
() 1098

@ 1199

.7. ‘7(@7

110 9 <ht @ft fawm sy
w1y Ton TR ST B | 39 T

(a) O

b 3

(¢) 5

(@ 3wH H T B T

(13-A)

42, et faggg A @ T deT A 2:3%

qurd # 8, St foreft o= fazeng B § @
T 3:4%% JAEH § | A 20 kg FHzwTg A,
28 kg fisramg B, aen $© MR 31y yg dld H
fremert wh et fagerg ¢ s R, f
dfer 3R o7 6 : 7 39U H &, ot famearg c A
firetme U 31g afe eI R R 2 s
(a) 3kg

(b) 4kg

()

21 (a+b)

5T Shi 377 < Ed 1999 R |
| BET H yaw faan S g, @
e H1 3fi|d Mg 185 99 & St 7 | wfose
FU 57T BT I Ed 1Y F41 2 2

(a) 1799

(b) 17599

(c) 189

(d) 1859
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46. ‘A man can row at a speed of x km/hr in still 48.
water. If in a stream which is flowing at a

A car has an average speed of 60 km per hour

. speed of y km/hr it takes him z hours to row to while going from Delhi to Agra and has an
a place and back, then what is the distance average speed of y km per hour while
: DetweciEetvo p‘laces ? returning to Delhi from Agra (by travelling
(a) z2(x® -y %) the same distance). If the average speed of the
= car for the whole journey is 48 km per hour,
By o2 (X22— y%) then what is the value of y ?
X

(c)

47. A water te
and Q and a dra
the rate of 12
per minute res

Consider the f¢

S3 :

S1:
f 32%. If the cost
S2: ota : ain p ] sased by 20% and the sale price
: ' same, then the profit percentage

S3:

To know what is the capacity
which one of the following is correct ?

(a)  S2is only sufficient th) . 35
(b) S1, S2 and S3 are necessary
(¢) 15%
(¢) Any two out of S1, S2 and S3 are
sufficient
(d 20%

(d) None of the above
SPSS-T-XHI (14-A)
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46. T =i I8 gu uH § x el /e < W @

SPSS-T-XHI

9 W HhAT 2 | A wh @ (AF), S
yEfifrmfimfia @R, A wma
forell g UM % 9@ | IH 3R 99"
() ¥ 38 =afth &l 2 9 @ &, @ qHi
wH SR gh w2

z (X2 _y2)

(a) 3y

(b)

(c)

S1, S2 3 S3 AT &
(¢) S1,823M S3H & g off g q¥iea &
3o ¥ I8 TR

48.

(15-A)

feeeht & 3 S aTeft T wR A fEa
60 frft wfa =er B 3tk s @ fieeft amwm
A THY I|ehl 3ftwa nfa y feedt wfa =rer R
(e gl 7w #) | 3 wyol aen # SR A
fraa Tifd 48 ot wfd =rer T, 1 y 1 =
27

(@) 30 fertft ufq we
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50. A, B, C,D and E start a partnership firm.
~ Capital contributed by A is three times that
contributed by D. E contributes half of A’s
contribution, B contributes one-third of E’s
contribution and C contributes two-third of A’s
contribution. If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm is ¥ 13,500, what is the combined
share of B, C and E ? (The shares
"supposed to be proportional to
contributions)
(a) .. T 18,5
(b) 18,
(e) T 19,
@ %202 B
" 51.. APicCharti Y
Sec
Agriculture
Development
Irrigation |
Energy \
Industry and Minezals.
Transport and
Communication
Social Services
What is the angle (approxim subtended
by the Social Serv1ces Sector at the centre of
the circle ?
(a) 45°
(b)  46°
(c) 58° R
(d) 98
SPSS-T-XHI
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The arithmetic mean of two numbers is 10 and
their geometric mean is 8. What are the two

numbers ?
(a) 15,5
(b) 12,8
(c) 16,4
d 18,2 \
\
observations is 11.
f the first 6
C arithmetic mean
t st 11-5. What is the
sixfiiobser
0

a — cos* 0 equal to for any real

umber
(a) 1
()  1-2 sin? 0
(¢ 2cos?0+1

(d 1-2cos?6
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. A B, C,D 3R E T aEei B & W 3 1|52, 3 HEAIS I GHIGL AT 10 & I ITHT OIRR
A g o TS YSt, D g e e gsht B o | eA 87 | QT TS R & 2

THT 2 | E T WM, A % JWSH HT 40 B, '
B 1 319CH, E & 3IWEH o1 Th-agis 8, 3R
C &1 3iWGH, A % IWEH &I Q-fags 8 | A
% % Fo @ #, A, D 3R E & GgR T
dAT B 3R C % TgFd 8 & FW® T 13,500 © 16,4
%, @ B, C 3 E I 9gaa fewn fohan g 2 '
(e, sfwreHl % guaTd § 4 9 §)

(a) ¥ 13,500

(a) 15,5

() 12,8

(d) 18,2

(b) T 18,0
(c) T 19,75

(d < 20,2

. f=Afafea
WTTPIT%:

% TEI 0 % %I'Q sin®0 — cos?0

T Famd

s St & o s (A g
fomg W afafta wor (T fohem @ 2

(a) 45°

(b) 1-2sin20

(b) 46° ' () 2cos?20+1

(¢) 58°
: (d 1-2cos?0

(d) 98°

SPSS-T-XHI (17 -A)
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What is cot 1° cot 23° cot 45° cot 67° cot 89°|58. Each side of a square subtends an angle of 60°
equal to ? at the tip of a tower of height h metres
standing at the centre of the square. If [ is the
gl 0 length of each side of the square, then what'is
®B)r 1 h2 equal to ?
2
1 (a) 21
(e)i
2 l2
B!
4 (b) 2
- =
(d)- 3
What angle {do

nan observes the

@) 12 gle of depression
®) 5° m respectively of
To what further
(€) . 162 at the values of
f depression get
@ 10° 4 ;
' and bottom of the
57. Consider the fo
1. (sec26-1)(1-— cose-cz 0)=1
2. sin@(1+cos0)L+(1+cos
Which of the above is/are correct ? 60. If secx cosecx =2, then whatis
- tan™ x + cot® x equal to ?
(a) 1only
(a) 2
nl
(b) 2 only . b 20+l
(c) Both1and 2 () 2
(d) Neither 1 nor 2 @ o=l
SPSS-T-XHI ' (18-A)
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55. cot 1° cot 23° cot 45° cot 67° cot 89° Tohteh |58. foheft ot i y% Yumm, 34 ot & Fg W @
U E 2 h i 1 F=rE 9 Th T F i (R) w
60° ST IV A et & | Ife ot h g
. g 1 s 1 2, A b ek wwe R 2
(b) 1 (a) 2l2
1 12
© 3 ®
il 312
(d) 3 (c) =
56. forell ugt o
fope feift = -
B - .". — [ m%%
(@ 1° " 5 % 3fif 3 qe &1
b 5 = B O O S 7 PR |
,_ar%aat%
© 6° STETHT IV
@ 10°
57. ﬁm%fﬁaa
1. (sec2f—1)(1—cosec?0) =1 units

2. sin®(1+cos B!+ (1+cog

7 gfé  sec x cosec x = 2 %, @ tanx + cot®x
39 | ¥ wH-E1/8 TE 2/ e TR
(a) *ad 1 W 3
(b) et 2 by 2o+l
© 1323 () 2¢
(@ JTALAE2 @ ol

SPSS-T-XHI : (19-A)
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61. If cosx+cos’x =1, then whatis 65. ABC is a triangle right angled at C with
~ sin®x +sin*x equal to ? BC = a and AC = b. If p is the length of the
(3 N e , perpendicular from C on AB, then which one
o) 15 ; of the following is correct ?
@ 2 (a) a?b%=p?(a+b?)
@ 3 b a2b?=p? b?-a?)
(© 2a2b2=p2@a2+bd
62. Ifsin A +cos A = p and sin® A + cos® A = q, o p2 5 e
then which one of the following is correct ? (@) S athe=2pitaierbs)

(@ p°-3p+q=0 e radius andes D\of & right circular
®). . a®-38q+ ' ' respéctively. What is

of greatest possible

circular sheet of
ning area of the

it from the opposite vertex. f the ratio of the radius of the base of a right

equal to ? circular cone to its slant height is 1 : 3, what is

(a)‘ fe- 8 the ratio of the total surface area to the curved
surface area ?

b V3-1 ' . (a) 5:3

© 2448 . 1
() 4:1
@ V8+1 @ 4:3

SPSS-T-XHI (20-A)
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61. IfE cos x + cos® x = 1 8, a sin? x + sin? x|65.

foprgeh s & 2
(@ 1

(b) 15

e 2

d 3

62. AR sinA+cosA=p3MsindA+cosPA=q%,

qt Frfafea 7 @ FRaTad g 2
(@ p3-3p+q=0

b -
© p°-
(d) p3+ )

FaE AB 2 | Ff AC i
3 | g T aw

tan C Torerh sTaR 8 2

(@ 2-+8

b 3-1

(© 2+43

@ V3+1
SPSS-T-XHI

(21-A)

ABC T Fige & &1 ¢ W dwehvig B, &t
BC=a3M AC=b? | I CH ABW & 9H
I o9 hl @ p B, @ fafafes # @
S99 TE B ? '

(a) a?b%=p2(a?+b?
b) a?bZ=p2(b2-a?
(e) 2a?b?=7p?(a?+b?)
d) a2b?=2p2(a%+b?)

e (T W)
] & I A 8 |

g TF b MYR H B
mﬁﬁ@%ﬁéﬁa@m1 38 @ Fa
TSI SRS T T3 T EABA W A
27
(a)
(b)
(c)
)
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70.

71.
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A right circular cone is sliced into a smaller |72, What is the volume of a cone of maximum

‘cone and a frustum of a cone by a plane volume cut out from a cube of edge 2a such

perpendicular to its axis. The volume of the |
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface (a) mal
areas are in the ratio

(a) 4:1 (B =
(b) 16:9
() 64:61 ()
(d 81:64

that their bases are on the same plane ?

In a room whose floo#g

_ cm and 3:5 cm
4m x 1m X ween the centres
If half of the xest| s is the length of

be carpeted @t the -_ Lusve i nt ?
(approximately) ? :

(a) ¥ 17,600
(b) T 5,635
(¢ T 4,113
(d) T 3,200

ntimetres in the
there are cubic

hat is the radius
A region of 3

-~ The length of a line segment AB is 2 cm. It is
divided into two parts at a point C such that

i | . AC2=ABx CB. What is the length of CB ?

(a) pincreases as m increases (6) B8 cn

m
(n — 2), then which one of thé™ollowing is

(b)  pdecreases as m increases ®) 3- 5em
()  premains constant as m increases i BJB em

(d) p increases for some values of m as m
increases and then decreases thereafter

d J5-1cm
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69. UH TE-IUR WP hl, Ik A W TEAd, Th (72, 2a HR IIA U9 Hl HRH Th TP 390 THN

70.

a9 % g, Th BI¢ U AN uF & fous # T T FF MR G R aa ¥ &, @

FE T R | DR W R TF b fome & T YHR o9 G AT N H AR A
IR 64 : 61 % U F § | A 3T T T BRI 2

s &he fopd aTguTa | 3 2

@ %l () ma’

b) 16:9 nad
b TR

(c) 64:61 | ®) 3

(a)
(b)
(c)
(d)

& et A
71. 99 C ¥ # 99 afer § | e
e § =
freenait aTd 0 & HHA 9 T e
Fcﬁr1<r2<r3<...rn_1%I
Ta m=1,23 . @0-23%, urrh ﬁ Hﬁﬂmﬁ%%ﬁéﬁg
HEE R ? AC?=ABxCB? | 79 CB ! @&t FI1 8 ?
(a) m% S b LAY p ft T B B o
(b) m WGl B p T B @
() meEadl & dl p e (f) e B i B
() T m G 2 @ I Fo A F R p (© 5+3cm
gl 8 3N g oG T T 2 @ J5-1cm
SPSS-T-XHI (23-A)
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76. The locus of the mid-points of the radii of
length 16 cm of a circle is

(a) A concentric circle of radius 8 cm
(b) A concentric circle of radius 16 cm
(¢) The diameter of the circle

(d) A straight line passing through the
centre of the circle

77. The curved surface area of a right circular
cone is 1:76 m? and its base diameter is
140 cm. What is the height of the cone ?

(@) 10cm
b 10V2¢
(e 2042

(d 10415

78. Consider the

Which of the abov

(@) land2
(b) 1land4
(¢) 2and3
(d 2and4
79. The locus of a point equidistant from two
intersecting lines is 82.
(a) A straight line
(b) A circle
(¢) A pair of straight lines
(d) None of the above
SPSS-T-XHI (24-A)

80.

Consider the following statements :
Two triangles are said to be congruent, if
1.

()

exple i
o‘th_ tatement-1 and Statement-2 are

Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

Two sides and the included angle of one
triangle are equal to the corresponding
two sides and the. mcluded angle of the
other triangle.

Two angles and the mcluded side of one

polygon are all
t angle.

has exactly four

the angles of a
aving n sides is
t angles.

correct in respect

Statement-1 is false but Statement-2 is
true

If the length of a side of a square is increased
by 8 cm, its area increases by 120 square cm.
What is the length of a side of the square ?

(a)
(b)
(e
(d)

2-5 cm
3-5cm
45 cm
55 cm
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76. 16 cm 9T 1 Frsw et fe g 1 frsnadi|so. P et w faEw Hif -
% me-fagadi 1 faguy 2 , 1 s watTem 2 914 8, 99
(a) 8 cm B 1 wH THH g 1. @Egdﬁ?@ﬁgm%w
(b) 16 cm Fr=o1 %1 U Hehegl ik o
: = 2. wH e i fim yed g s i @
4 e @ yesd % S A |
(d) F9 % F5 W TA el Uh W @l 3. wﬁg@taﬁ?ﬁmaﬂt;ﬁ%_mﬁam
77. U O WG P A% T &ABA 1:76 m? ;Sfﬁfgmfwéa et SR
%Wsﬁmmmlwcm%l%ﬁ TR |
4. @ﬁgﬁ%aﬁwamu%mﬁagm
AL AR 7 o B 3 T WWﬁm
(a) 10cm
(b) 102 cifl” 9
(¢ 20+/2fem
(@ 10 18km
78. fr=fafiad
! Q;; $ mft Fiv T F
9. U TR 2 ! Wer g ; b'.
B b o [ / E a’; Eﬁ“ﬁ W
3 ll 5 bR
=0 o AT B |
4 UH T gd H g $iH-
39 H § HIR - , qAT HH-2,
(a) 132 ki "g"%. :
b 134 M o2 qe e &, Wt
st , %2H-1 I HE AR TR 2
- zaﬁza; LE8 2, AfeT Ho-2 T 2
U (d) HUH-17d 7, SIfeh HYF-2 98T 7
79. < wioesd Warslt & #AW g W fua g %182, afz ww il & ys hl FEE 8 em T & HE,
forgay 2 @ FEH] GEFA 120 om? 5 I | 7 A g
(a) U T @1 < TS B 2
(b) Th I (a) 2:5cecm
; : () 45cm
. wﬁaﬁﬁﬁﬁs‘:@ (d) 55 cm
SPSS-T-XHI (25—-A)

Join Telegram https://t. me/defenceekaksha




mwgmn%an

LET S LEARN TOGETHER

83. What is the largest power of 10 that divides

théproduct 1x2x3x4...x23x24%x257?
(a) 2
(b) 4
(¢). .5

(d) None of the above

84. Walls (excluding their roofs and floors) of 5
' identical rooms having length, breadth and
height 6 m, 4 m and 2-5 m respectively are to
be painted. Paints are available only in
of 1 L and one litre of
painting 20 sg
number of can§ T

(a) 10
b) 12
(e} =113
d 14

85. A rectangular
and length 10
square tiles of sig
tiles contains 2
will be the tots

(a)
(b)
(©)
(d)

86. A cube of maximum volume

" sphere. What is the ratio of the volume of the
cube to that of the sphere ?

_ 90.
(a) 3:4n
() VJ3:2n
(€ 2:3rn
(d) 4:3=n
. SPSS-T-XHI (26-A)
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87.

If the ratio of the circumference of the base of
a right circular cone of radius r to its height is
3 : 1, then what is the area of the curved
surface of the cone ?

(a) 3mr?
% 2m2,/4n2 +9
3
0 2
© mréyn® +1

ircle of radius
out of the wire.
> of the square ?

the next two 02)

2(p+"q+r)<3(a+b1r+c)
(d 11(p+q+1)>10(a+b+c)

Which one of the following is correct ?
(a) (a+b+c)<(p+q+r1)

(b) 3(a+b+c)<4(p+q+1)

(¢ 2(a+b+c)>3(p+q+1)

(d 3(a+b+c)>4(p+q+r1)

https://t.me/defenceekaksha
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83.

84,

85.

86.

missiongyan

10 <1 31k =Td 1 R W U 87. 3 B r % wH e W F emuw A
1x2x3x4..x23x 24 x 25 % fawfra st ftfy deT Sgehl S 1 HgUE 30 18, 9 T
29 % T J53 1 ST FT 8 2

(a) 2 (a) 3mr?

(b) 4
© 5 (b)
(d) IF | | HIE TG
T N 5 I H et (fied B qun Bt @ o ——

Bgw) el o, =ieR ad F98 5
6m4maﬂw5m% mﬁzﬁm :

10m @, § 50 cm 51
Y TEEA b W !
1A T 100 2 HH ,

(a) ¥ 1,200 ' T ol oAl B |
(b) ¥ 1,100 :
(¢) ¥ 1,000
(d) T900
U Tl T ATehad 3TRAA 1) Ush BA
Y AT F T M I 4 R T
Bl) HE T R | T qUT WA H A=A B
bk L 90, Frefiies 3 & P ad 2 2

(a) 8:4n (a) (@a+b+c)<(p+q+71)
(b) 3:2n (b)

(¢ 2(p+q+1r)<3(a+b+c)
(d 11(p+q+r)>10(a+b+c)

3(a+b+c)<4d(p+q+1)
(© 2:+3n (¢) 2(a+b+c¢)>3(p+q+r)
(d 4:3n (d 3(a+b+c)>4(p+q+r)

SPSS-T-XHI (27-A)
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91. What is the area of the largest circular disc|94, A square and S equﬂgteral, triangle have the
cut from a square of side sl units ? same perimeter. If the diagonal of the square
: & is 642 cm, then what is the area of the
triangle ?
(a) msquare units
(a) 1242 cm?
it :
(b) 1square uni ® 1243 cm?
(¢) = square units (¢) 162 cm?
2
(d) 2square units (d 1643 cm
\ region bounded
i\ of length ‘a’ and
through the four
92. The produc
a square is
of a side of the
(@) 542
(b)
(©)
@ 245 A and XB are two
= 50° and AC is
hen what is £ ACB equal to ?
93. The surface area of a closed cyli
3562 square cm. If its height is
what is its diameter ? (Use & X
(a) 4cm
b) 8
e @ 70°
() 912cm (b) 65°
(e) 60°
(d) 1926 cm @ 55
SPSS-T-XHI (28-A)
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91. wfm%aﬁﬁﬁm%mmaﬁ% & i 3 Tk wnerg Bryw W afmm soe
T -
- 2 | afg &1 gl 642 cm B, A Brygs =
ol 52 geia fowh 1 e &= € 2 ———
(a) n o SIS (@ 1242 cm?
(b) 19 TS (b) 1243 cm?
2
© et g () 1642 cm
(d 1643 cm?
(d 2 gHTE
Fii'l'g‘a’ﬁ
q3maiF
92. TH I & fo
THE B | T @
(a) 52FH%
(b) 5
(¢) 103TS :
B TH I H
@ 25 8 > 3T AC, XB &
93. TF 3 ITIER T BT YL 4
T 7 | Afe Eh S 10 o - 500 C>x
Y T B
(a) 4cm
(b) 8cm () 700.
(b) 65°
(¢) 912cm ©  60°
(d) 1926 cm (d) 55°
SPSS-T-XHI (29-A)

Join Telegram : https://t.me/defenceekaksha




: . . ®
EE

7.

98.

In the figure given below, p, q, r are parallel|99. In the figure given below, SPT is a tangent to
lines; / and m are two transversals. the circle at P and O is the centre of the circle.
/) m = ipegd If £ QPT = a, then what is £ POQ equal to ?

_Hy

AD = DB an
side of the t
the shaded r

A
A

33 12
16 (a) 5em
312 .
(b) 16 (b) 6cm

343 12
32

(a)

(c)

(c) 2429 em

32
(d) E (d) 2J3_7 cm

SPSS-T-XHI ~ (30-A)
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97. :ﬁ%ﬁqmﬁﬁﬁ, p,q,rmi'@'ﬂi"gl
' laﬁ'{maﬁ?ﬁ@ﬁi@ﬁﬁl

(c)

g3 —

L] L] ®
LET’S LEARN TOGETHER ;

99, % R ma fra #, SPT, P g i v B
AR OFd & Hhg 8 | e LQPT = o B, a1
£ POQ foFaehs stet & 2

(a)

(b)
(c)

(d)

SPSS-T-XHI (31-A)
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2J2—9cm
2\/-?ﬁcm

-y

Sfed fog P W
c¢cm, OC = 13 cm
PB =3 cm 8, ql
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SPACE FOR ROUGH WORK
wel /Y & foro smre
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SPACE FOR ROUGH WORK
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Wmmwaﬂawgﬁmahﬁaﬁammwawvwﬁ
2. sft. =i, : SPSS-T-XHI | wfteror gferest STy

Te% T o [0 fIT T TH T IR h I 5

(ii) aﬁaﬁémﬂm@émmém%,aﬁsﬁmmmm,wﬁﬁqmsaﬁﬁﬁ'@w
& B 8, F oft 38 wea & foru Suwigem € 3t at@ #1 que fean smam |

(i) afe Ifiear gru s yw g & Foran ran R}, erarfq Iefiear grr e A famn wman @, ot 3"y %
foe =i qus 7@ fean smom |

AT A% HTTH TZ T Gleraht Gieid &t T FHgl AT 7 a7 &iet

Note : English version of the instructions is printed on the front cover of this Booklet.
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